GOVERNMENT OF WEST BENGAL
DIRECTORATE OF SCHOOL EDUCATION
CENTRALLY SPONSORED NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION, 2015
(FOR STUDENTS STUDYING IN CLASS VIII)

Mental Ability Test
N “FwerR At
Class-VIII Code State Code Year Code Centre Code Serial No.
Roll No. 1 23 115
Full Marks : 90 = 7‘75?7? »0

Time: 90 minutes (10-30 AM to 12 Noon)

Instructions to Candidates

Read the instructions carefully before you start

answering the questions. Answers are to be glven ona
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answerall
the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the
Sfour alternatives (a), (b), (c) and (d) against each
question in the Question Booklet. Darken the circle
with a Black Ball Point Pen, to the corresponding
correct answer for the item in the OMR Answer-Sheet.

@ @® © @

(Here ‘b’ is the correct answer.)

Exampf e

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a
Wrong answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write & encode your Name and

Roll No. in the space provided with for this purpose
on the OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination
Hall. You may take away the used Question Booklet
after completion, of the examination.
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'MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: In each of the questions 1 to 10,
there are four items, three of which are alike by
some means or other while one is out of the class.
Find out the odd item and give the answer by filling
the circle of the letter denoting your selected answer
on the O.M.R. Answer-Sheet. e

(erst 1—10)
[P 2 1 e 10 =15 2eiio s 1M I 4% SR,

i3 &A1 @I F1 (@A I G INRP6! e |
2 el AMCE = I Aide Seal e 37 waR

OMRﬂﬁWW%%ﬁ#WWW

oMo 1)
1. (@

(b)

(c)

(d)

(@)
(b)
(©
(d)

(a)
(b)
()
(d)

(a)
(b)
(©)
(d

(a)
(b)
(©)
(d)

(a)
(b)
(©)
(d)

(@)
(b)
(©)
(d)

Star (77%a)
Moon (51%)
Planet (22)
Sky (rr=er=t)

Author (&4F)
Novelist (B=1F)
Poet (3[)
Publisher (29*i<)

Cholera (3¢=131)
AIDS (43%%)
Cancer (F1919)
Health (71%)

Akbar (31539)

Jahangir (&%)
Vikramaditya (R@tifirer)
Aurangzeb (DETHTS)

Granite (8125)
Lignite (F159125)
Peat (ﬁl'fg‘)
Bituminous (RBRFPT)
Guitar (15517)

Flute (1)

Sitar (GTeI¥)

Violen (32et)

Agartala (Sisf%s11)

Bihar (723)

Lucknow (e103#1) :
Kolkata ((le<rel)

[3]

8. @@
(b)
(©)
(d)

(@)
(b)
(c)
(@)
(a)
()
©
()]

(Questions 11—20)

DIRECTION: Read the questions carefully and
give the answer by filling the circle of the letter
denoting your selected answer on the O.M.R.
Answer-Sheet.

(er 11—20) .
(o ¢ emiefE SiTeir «v, Ron Seaelim vy @

#3 Teafb fios ¥ @22 O.M.R.~43 Tez+1tg 8 3@
479 IR (I Te e 74 ]

11. ‘Magazine’ is related to ‘Editor’, in the
same way as ‘Drama’ is related to

‘NG AL @H TN -97 T4 WT@
(SAWSIR N AL TS SN" |

(a) Director (*R5/E=F)

(b) Player ((At=1119)

(c) Manager (Wi&I)

(d) Actor (SfStTet)

HKI
MQON
CFD
UXVv
4

56

128
32

Tomata (51)
Brinjal (%)
Potato (%15])

Cucumber (%)

10.

12. ‘Rubber’ is related to ‘Tree’, in the same
way as ‘Gold’ is related to

QR4 AT T AT Frnvrzﬁ wIE, mﬁ
1) (6 e 0 B g A - S

(@) Ornament (5/241)

(b) Metal (419)

(c) Mine (3®)

(d) Silver (Feit)




13. ‘Oxygen is related to ‘Burn’, in the same
. wayas ‘Carbon dioxide’ is related to :
 SRe-aE MY @ T TR m
- (SHHOIRR I CROARE T AR AR |
(@) Isolate (Rfvzm) _
. (b) Foam(@=)
(c) Extmgmsh (E‘S‘!FTI)
(d) Explode (2ifSwa crea)
~14. ‘Smoke’ is related to ‘Pollution’,
same way as ‘War’ is related to
- MY @ -9 T i,
(ONOIRR T -G ML THEFSE |
"’ @ ey -
(b) Treaty (5if&%)
~ (¢) Victory (&)
(d) Destruction (%)

in the

15.. ‘Flower’ is related to ‘Petal’, in the same
way ‘Book’ is related to _
. e e ﬂﬂ%-«ﬂamﬁm

mﬁam?a 32’43 AR 91 SR, .
) Pages (#iret)

(b) Content (R¥a%)

(©) Author (@¥%F)

(d) Library (ﬁif‘ﬂ‘f)

1'6. ‘HCM’ is related to ‘FAK, in the same
way ‘SGD’ is related to

 'HCM’-¢9 AR} @ ‘FAK -97 1% Sig,
(oUW ‘SGD-GA A TR |
. (@ QB
(b) QEB
© BSOQ
(@ GES
17. ;Hongkong is related to ‘China’, in the
same way ‘Vancan is related to :
- 'mi wwﬂmww%| :
(a) Canada (1el)
- (b) Mexico (if3a)
(c) North America (®&z SIGfR)
(d) Rome (@)

~ same way as ‘Antibiotics’ is related to

. ‘Square is related to

' Questlons 21—-30)

18. ‘Napthalene’ isrelated to “Woollen’, in thc

(a) Germs (&)

~ (b) Immunity (iﬁ@ﬁﬁ)
~ (©) Body(om)
(d) Diseases (%)

19. ‘Happiness’ is related to ‘Sorrow ,in the
same way as ‘Comfort’ is related to _
FA-GT A @A -G "I““Tﬁﬁ m
CONTSITIE, S 7 F FH=9F W02 -
(a) Hardship (o1 sifFe)
(b) Rest(Rem)
(©) Poverty GRS
(d) Difficulty (31f3=)

‘Circle’ is related to ‘C]rcmnference as

20.

W«ﬂammﬂ Wﬂﬂ%‘ M%mﬁ
QNG -3 IR H~AF g
(a) Area(C®gwFe)
(b) Volume (S11F%+)
(¢) Diagonal (+)
(d) Perimeter (sif35m)

-

- DIRECTION: In each of the questions 21 to 30,

some codes have been used to write words. Try to
find out the rule of coding in each case and answer

as per direction in the Answer-Sheet by filling the

circle of the denonng your selecbed answer on ﬁhe

"O.MR. Answer—Shcct

(e 21—30)
[P 2 21 (= 30 2% 2o 2o =% @R & [

S AT T 7A@ | AfS (W Ao it

[4]

T AR 68 I R e RFewb OMR.

Tereinas WS 3@ s34 0 cotstis Tes oo 32 1]

21. If ‘TEACHER’ is coded as 205 138518
how will you code ‘COLLEGE’?
It ‘TEACHER’-93 (F© 205138518 =,
R ‘COLLEGE’~£3 33 T
(@) 3121512575
(b) 1531257125
() 3151212575
(d) 3151212557



22. If ‘HUT is coded as ‘49’, then ‘MAT’ will
be coded as
I ‘HUT' -3 303 ‘49’ 27,
CHFEE e 2|
(@) 37
(b) 44
(c) 45
(d) 34

23. If ‘DREME’ is coded as 7-21-8-16-8,
mw ALONE-43 #GFS T3

(a) 4-14-18-17-7

(b) 4-15-17-18-8

(©) 4-15-18-17-8
@ 415-18-17-7

24. If “TEN’ is coded as ‘879’, FIVE is coded
as ‘1567°, FOUR is coded as ‘1234°, then
FURNITURE will be coded as '

W ‘TEN’ -3 e ‘879’, ‘FIVE'-«3
MEFEe ‘1567°, ‘FOUR’-@T Fe ‘1234’ 7@, 1
FURNITURE-¢3 3% T(J

(a) 134953847

(b) 134598347

(c) 134958347

(d) 134958437

25. If “You are good’ is coded as 256, ‘We are
bad’ is coded as 637, ‘good and bad’ is coded as
‘358, then what should be the code for the word

and’?

It “You are good’-¢3 A 256, “We are
bad’-49 *F© 637, ‘good and bad’ 47 TF© ‘358’
T, O3 1% ‘and’ 93 A R LA

(a) 8

(b) 5

{©) 3

@ 2

26. If ‘PENCIL’ is coded as “?7@,=;7” and
‘PAPER’ is coded as “?9?@5”, how will you code
CLIP?

3% ‘PENCIL-93 |@&@e “7@,=7" @R
‘PAPER -39S “79?@5”, %1 ‘CLIP' - F*@Fo R
(a) =@75
(b) =77
© 7=
(d) 9=@?

@ ‘MAT 3

-

[5]

If B = 25 and C = 24 encode ‘96872’.

M B=259RC=24 =, S ‘96872’
FLTOEA T

(a) DUSTY

(b) HASTY

(¢) RUSTY

(d) POSTS

28. If ‘HOTEL'’ is coded as ‘12' how will you

code ‘BORE’?

Tft ‘HOTEL’ 43 3@ ‘12’ Eﬂ,
-3 S T

(@ 11

(b) 10

© 4

o 12

29. If ‘RELATION’ is_ ‘oled. e
‘MNHSZKDQ’, how is ‘NATURE’ coded

i ‘RELATION" 7ewe ‘MNHSZKDQ'
W@ ‘NATURE’ -9 75,59 24

(a) DQUZM

(b) DQSZM

() DQTBM

(d) DQTSZM

30. If ‘PALE’ is coded as 2134, ‘EARTH’ is
coded as 41590, how is ‘PEARL’ coded in that
code? "

% ‘PALE’-93 7S 2134, ‘EARTH 93
FES 41590, S ST ‘PEARL’-43 AGFST T4t
FE?

27.

‘BORE’

(a) 24153
(b) 29530
(©) 25413
(d) 25430

(Questions 31—40)

DIRECTION: In each of the follow:ng questions,
a number of series is given with one of the terms
missing. Choose the correct alternative that will
continue the same pattern and answer on the
O.M.R. Answer-Sheet by filling the cn'cle

(e 31—40)

(e 3 31 (2 40 #ife 2R 2 Ry swur @
e G TR AW Credl 2T, IR fire TR (2)
oz T Afde Teal 0.M.R.-«7 Teaotaz Fis 38
599 F (oA T RS 34 1] _

31. 4,10, 28, 82,244, 7 i
(@ 736
(b) 729
(c) 728
(d 730



32.

21, 25, 33,49, 81,7

. (@ 143
(b) 155

33.

35.

37.

39.

(c) 145
(d) 153

3:9,17,33.65, 7

(@) 127

(b) 129

© 131

(d) 133

Pid gt

3°9727°81"243°
1

@ 737
5

®) 773

© 555
1

(d) 759

16,48, 144, 43-2, 129:6, ?

(a) 3888

(b) 387-8

() 3788

) 3988
4,-8,16,-32, 64, ?
(@) 128

(b) —128

© 192

@ -192

2,9, 28, 65, 126, ?
@ 137

(b) 223

© 217

d 199

18, 36, 54, 72,90, ? %
(a) 108

(b) 106

(c) 98

(d 112

2, 12, 30, 56, 90, ?

(a) 110

) 121

(c) 132

(d) 143

8

[6]

40. 40, 36, 30,22, 12,?
(@ 10
) 7
© 6
d 0

(Questions 41—50)

DIRECTION: In each of the following questions,
arrange the given five words in a meaningful
sequence and then choose the most appropriate
sequence from amongst the alternative. Mark the
right alternative on the O.M.R. Answer-Sheet.

(et 41—50)

(ot ¢ ez 2 stost vl w02 =13 q0a0 | R swete
O G WLl sAg= @y @ e A | Ao
9% O.M.R. Seavitas 78 3 =3 3= come e
Foife3a1]

41. 1. Mother 2. Child 3. Milk 4. Cry
5. Smile

(@ 3,2,1,5,4
b 1,5,2,4,3
) 24,135
d 2,1,5,4,3

42. 1. College 2. Child 3. Salary 4. School
5. Employment -

(@ 1,2,4,3,5
() 4,1,3,5,2
() 2,5,1,3,4
d 2,4,1,53

43. 1. Country 2. Furniture 3. Forest
4. Wood 5. Tree

(@ 2,1,4,5,3
®) 1,3,5,4,2
© 1,.2,54 3
d 3,1,2,5,4

44. 1. Digest 2. Cut 3. Chew 4. Purchase
5. Cook

(@ 4,2,5,3,1
(b) 4,5,2,1,3
© 1,5,4,3,2
d 3,1,2,4,5



45. 1. Diagnosis 2. Doctor 3. Sick
4. Treatment 5. Recovery :

@ 1, 2,354
() 2,1,3,4,5
() 4,5,1,3,2
@ 32145

46. 1. nght 2 Solar Panel
4. Electricity 5. Sunrays

(@ 3,2,1,4,5

3. Sun

47. 1. Town 2 Country
4. Locality 5. District

@ 2,5,4,1,3
Grilz 435
) 1,53, 24
(d)2,3,5,1.4

48. 1. Library 2. Almirah 3. Pages
4. Books 5. School

3. _Stal:e

49. 1. Cloud 2. Death

3. Destruction
4. Rain 5. Flood '

3. Vegetable

(Questions 51—60)

DIRECTION: In each of the questions 51-60, a
figure or a set of figure is given, each of which bears
certain numbers following a certain pattern. You
have to decipher this pattern and accordingly find
the missing number in the figure and denoting your
selected answer on the O.M.R. Answer-Sheet.!

(erst 51—60)
[t s A 51-60 o 2ol ae @ 9t qpowm Ba
Az | 2R fBra wrm RS R st @i s @3

TetefE a3 RS R aue | o I1e 2= <
R 3 e B (7))@ @ A T3

~ O.M.R. Tereizar {78 78 =431 5 Ter oo 4 1]

(a) 57
(b) 78
(c) 66
(d 72

m 42 | 21 43 | 11
W W

(@ 6
(b) 7
(c) 8
@ 5

L



56.

S7.

58.

(a) 121

(a) 625

®) 129 ©® @

G (c) 125 @ 156

25

1 legnEen L[4 1oi0h s

(a 10

(a) 2

®) 6 vl @ 1

() 1 - (c)3 ) A



59,

3 | 8 10 2 ? 1
6 56 90 2 20 0
= ) 5 d 7
(a) 2031 | (b) 731 (c) 1625 @ 1
(Questions 61—70) 62. If + means —, — means X, + means + and

- DIRECTION: This section deals with quest:ons

on simple mathematical operations. Here, the four

fundamental operations addition, subtraction,

- multiplication and division are represented by

symbols different from the usual one. You have to
solve the problem by substituting the real symbol

~ accordingly and indicate your answer by filling the

~circle of the letter denoting your selected answer on
- O.M.R. Answer-Sheet.

(@ 61—70)

(e ¢ 6im7ommﬁmﬂﬁamw '

FAfFS | Qe G, s, e @3 st @3 51l e

ot Rien Bz a@ oo =1 Taw) oNe ope

fozlbe Fotme +Afafe w@ el mam 3 9.
- OMR. @Wﬂmﬁﬁ%wﬁqmmmﬁvﬁs

61. If + means +, — means X, + means +, and x

~ means —, then ' -
36x12+4+6+2 3*-"

'_'f(a) 5

(b) 18
© 63
(d) 42

xmeans—s— then
: 10x5+3-2+3="?
_ (@ 5
® %
(c) 18
(d 21

63. If P denotes +, Q denotes —, R denotes +,
S denotes x, then G
18S36R12Q6P7 = ?
(@ 115
(®) 55
() 30
@ 25

64. If > stands for +, « stands for—, 4 stands
for x, T stands for +, then :
6T31107>52=2
(a -10
3
®) 5
7
© 3
(d 15

. {9]



65. If7*1=64;3*9=144. What is the value
of 5 *¥6?
(@ 121
(b) 22
(c) 55
(d) 66

66. If + means—, —means X, X means+, and
+ means +, then the value of
28x2+37+11-4is
@ 5
(b) 12
) 13
@ 7

6l If5_*’6 31, 7*8 57 3*4—13then
9*10=?

(@ 90

(®) 89

(c) 91

d) 92

68. If A means +, B means x, C means + and
D means —, then the value of
44B9C12D6B4A16 is
(@ 25
(b) 36
(c) 124

(d 112

69. Imecans-i- J means x, Tmeans—andK' i

means +, then the value of
30K2Q3J6T5 is
(a) 18
(b) 28
(c) 31
(d) 103
70. Ifinterchanges signs ‘X’ and‘-’; interchanges
number 5 and 8, then the value of
28-5x%x15 —-8is
(a 120
(b) 10
© 112
d 118

e

(Questions 71—175)

DIRECTION: Read the following passage
carefully and answer the questions 71—75 based
on it by filling the circle of the letter denoting your
selected answer on the O.M.R. Answer-Sheet.

(e 71—75)
[P ¢ Tiooa oW it 3 e ¥ oI Tz fefa

71—75 »f% amiafer s Tealt O.M.R. Sea+its
S g8 ozt 4 1]

Out of four friend A, B, C, D; A and B play football
and cricket; B and C play cricket and hockey; A

~and D play basketball and football, C and D play

hockey and baskctball

71, Who plays football, basketball and hockey?

(@ C
(b) D
© A
d B

72. Which game do B, C and D play?
(a) Basketball
(b) Cricket
(c) Hockey
(d) Football

73. Who does not play football?
(@ C
®) A
©D
(@ B

74. Which game do A, C and D play?
(a) Hockey
(b) Football
(c) Cricket
(d) Basketball

75. 'Who plays football, hockey and cricket?
(@ A
(b B
0 €
@D



- (Questions 76—80) _ 82.
DIRECTION: In each of the questions 76 to 80
below, there are four words. These words are to be _ g x - - * I+ =+
arranged in alphabetical order (as they are placed in
the dictionary). Find out the word that comes last in
the dictionary and mark the right alternative on the 83.
O.M.R. Answer-Sheet by filling the circle.
(e 76—80)
[P s o 76-80 o1 ool mmmwmm
W0 | G >t IR e 201 (FOIE dictionary-(S
- 2ACF) | G *H1 FABE (I A Gl A7 3, Ao Tes® .
O.M R. Tez9iaa3 8 36 7j21 I3 (o T Roiie
*41]
76. (a) Empower (b) Embargo
(c) Emphasis (d) Empire 85.

a
Y,
a
a
e s
a
a
a
a

78. (a) Philosopher (b) Perpendicular
(¢) Perspective (d) Photography 86

79. (a) Conspire (b) Conjugate
(c) Convenient (d) Compatible

80. (a) Architect (b) Atmosphere
(c) Atheism (d) Aristocracy

(Questions 81—90)

DIRECTION: In each of the questions 81 to 90,

three out of four figure are alike in same respect and

one is different from others. Find out the odd figure

in each question and indicate your answerby filling ~  gg
the circle of the letter denoting your selected answer

on the O.M.R. Answer-Sheet.
(erst 81—90) '
(e ¢ 81 s 90 #1% emiafoi drorala rea s
sRwEs iy foaba @ =t @ie [Ew fe s 93k 89.
@FT SRR At wem | Afel oo wEm IeE —
foafs 77w I Tead Fidor =1 @ OMR. E
Teaeingn fAiTe 3@ o439 I (o Ten foike 3 1] '

-

. a b c
81. ‘ 90.
T a>] T[a]a]
a b c o a b c

[11]



GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION

CENTRALLY SPONSORED NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION, 2015
(FOR STUDENTS STUDYING IN CLASS VIII)

Scholastic Aptitude Test
eERES “are
Class-VIII Code State Code  Year Code Centre Code Serial No.
Roll No. 1 213 1{5
Full Marks : 90 oI 2 do

Time: 90 minutes (1-00 PM te 2-30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Beforeyouproceed to mark in the OMR Answer-
Sheet find out the correctanswer from the four alternatives
(a), (b), (c) and (d) against each question in the Question
Booklet. Darken the circle with a Black Ball Point Pen,
to the corresponding correct answer for the item in the

OMR Answer-Sheet.
@ @ © O

Example :
(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. Youare to write and encode your Name and
Roll No. in the space provided with for this purpose
on the OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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is

Mathematics

1. If(a+b):Vab=8:1, the value of Ya+ Vb

Vo
(a) 2

(b) £2V2

© +\3

@ +V}

If 3* — 32 = 8, the value of (-x)™* is
(a) 4
(b) -4
© -1
1
@ ;

3. If (x—2) is a factor of the expression

(x* — 7x* — Tkx + 9k), the value of k is

(a) 4
(b) -4
© 35
(d) -5

4. If a+ b =6 and ab = 5, the value of

@(%+b)+ (% +a)is

5. IfX+2=2 and % +§_1

(a) 28
(b) 3
© %&°
(d) 216

e the value of

+y*is (where a# 0, b #0, a*# b?)

is

(a) o

(b) a*+ b?
(c) b*

(d) a*b?

Ifa—ab + b =1, the value of @* + b*- a’b®

-

(a) O
(b) 1
(c) 3
(d) None of the above 3

[3]

1

3.

sifee

(@+b):Vab=8:1%z@ E*\‘g’mm
(a) 2

(b) +242
(©) i\@
@ +\3

3* - 372 = 8 @ (—x) 99 W=
(a) 4
(b) -4
e -2
1
@ ;

(2 = Tx% = Thkx + 9%) AT 93T TS

(x—2) T# k-93 =

(a) 4
(b) -4
(c) 5
d -

4. a+b=6 o ab=5Ta’ (% +b)+b2(bz+a)
Al = ==

S.

(@ 1

3276
(b) 326
(©)

4276
5

(d) 2216

5

Z & 2_ i1 2
b+ =3 9 +b-lﬂﬁx‘°'+y—uﬂ‘$‘l‘a‘nﬂ

(@AW a#0,b#0, a*# b*)

6.

(@) o

(b) a*+ b
(©) b

(d) a*%?

a—ab+b=1%7a’+ b’-a’b’-aa 7=
(@ 0

(b) 1

(c) 3

(d) ToIET IR 7



Lo
the value of —+

EIf'x a(b c), y=b(c—a)and z=c(a-b),

e Sl

=ty is
(a) l
(M) 3
(c) 2
@ 9

The value of V49 is

(@ 7

(b) -7
(c) £7
(d) All of the above

9. One of the factors of the expression

524 —V5:2 - 12 is

10.

11.

(a) (V5x*-3)
) (5x*-4)

©) (52+4)

d (52

The least value of 10~ + 10% is
(a) 10

®) 35

(c) 2

@ 3

If ne N, the expression n(n + 1)(n +2) is

always divisible by

% ok

(@ 5
®) 7
(c) 6
(d) None of the above

If 43x + 37y =83 and 37x + 43y =77, the

value of x>+ y* is

(@ 5°
®) 3
(c) 2
5 .
@ 3

[4]

7 R — a(b c), y=b(c—a)9Rz=c(a-b)

2
= )'Tz'+-z:-x*+xy-‘ﬂqm

10.

11.
I T Rereg 7@ ©f ==

12.

y? B

@ 1 19q

(b) 3
©) 2
d) 9

V49 -g3 T

(a) 7

(b) -7

(c) 7

(d) otz 730

5x* — 522 — 12 2fifx @3 Sesiwa 2o
@) (5x*-3)

(b) (5x*-4)

(©) (V52+4)

@ (52

107 + 10° 43 Fues AH
(a) 10

(b)
(c)
d

neN @ n(n+ D@ +2) Ry @

(@ 5
(b) 7
(c) 6
(d) ToEE @EHE 71

43x+37y=83 @R 37x+43y=77 TA

P+ Y -7 T

(a)
(b)
(c)
(d)
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(13. If the lengths of two sides of an equilateral
triangle are %(3x+ 1) units and %(4}:—1) units, the
perimetre of the triangle is

(a) 1 unit

(b) 2 units
(c) 3 units
(d) 4 units

14. If the area of a rhombus is 96 sq.cm. and
length of one diagonal is 12 cm., the length of
other diagonal is

(a) 16 cm.
(b) 20 cm.
(c) 14cm.
(d) 10 cm.

15. If the sum of two angles of a triangle is
equal to the third angle, the triangle is
(a) Acute angled
(b) Right angled
(c) Obtuse angled
(d) Equilateral

16. Number of diagonals of a hexagon is

(a) 15
(®) 9
(c) 12
(@ 10

17. The ratio of bus and train fare from
Kolkata to Sainthia is 3:4. If the train fare
increases by 20% and bus fare by 10%, the new
ratio of bus and train fare will be

(a) 10:13
(b) 11:16
) 11:15
) 10:17

[5]

13. wﬁwmiﬁwm ~(3x+1)
G GR 3(4x—1)mmﬁ§wﬁwﬁﬁmm
(a) 1935
(b) 2 =
(c) 3 a3
d) 4 955

- | ¥

14. 3% 7R wFEwa 96 I Gl @3 @3
Ffa g 12 G 701 o oa ) =@
(a) 16M
(b) 20 &
(c) 14
d 10&W

15. mﬁwqﬁmwﬁv@amm
7@ fage 23
(a) FEER
(b) A

(c) M
(d) ==

16. <= TogE F A

(a) 15
() 9
) 12
@ 10

17. @ERe (A AR WenF & IR € G
SIS S 3 : 4| G S8t 20% 8 A7 wiet 10% 3%
CoITE T @ (G I g SIS I 8

(a) 10:13
(b) 11:16
(c) 11:15
(d) 10:17



18. Some money is divided among A, B & C
in such a way that S times A’s share, 3 times B’s
share and 2 times C’s share are equal. The ratio of
their share is

(@ 5:3:2
(b) 2:3:5
(c) 15:10:6
(d 6:10:15

19. Two successive discounts of 20% and
10% is equivalent to a discount of

(a) 15%
(b) 30%
(c) 28%
(d) 25%

20. A solution contains acid and water in the
ratio 4 : 3. If 7 litres of water is added with the
solution, the ratio becomes 3 : 4. The quantity of
acid in the solution is

(a) 161t

(b) 121t

(c) 91t

(d) None of the above

[6]

18. g5 A, B 8 C-99 T G5SIE ©lsl I
(e T (@ A-9F SIHF 5 @4, B-a7 SN 3 @4 a3R
C-97 SR1A 2 @9 7o = | A, B, C-93 2isff Biwia
S 2AS

(@ 5:3:2
(b) 2:3:5
(c) 15:10:6
(d) 6:10:15

up

19. ==°[ 9% =S 20% 8 10%-93 FIge] 2 Z&
(a) 15%
(b) 30%
(c) 28%

(d) 25%

20. @36 T3l Soitie ¢ e SEeie 4 : 3| 3
Q 79l wRe 7 o[ Ee G W O Sl =
3 : 4| weifbrs suifie-97 #ifFsnd

(a) 16 o=
(b) 12 o=
(c) 9 o=
(d) SoFa @ 98
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Physical Science

3E
21. Which of the following is a scalar
quantity?

(a) Energy
(b) Velocity
(c¢) Momentum
(d) Acceleration

e

22. The unit of density in S.I. unit is

(a) kg/m?
(b) gm/cm?
(c) Liter
(d) kg

23. The effect of pressure on the boiling point
of a liquid is
(a) boiling point decreases with increase
of pressure

(b) boiling point increases with increase
of pressure

(c) boiling point remains same with
increase of pressure

(d) may decrease or increase depending
on the nature of the liquid

24. The potential difference between the ends
of a conductor is 10V and its resistance is 10 Q;
then the current flowing through the conductor is

(a 10°mA
(b) 10A
(c) 1000 mA
(d 100A

25. If 1A current is passed through a conductor
having resistance 10 Q, the rate of heat developed
will be

(a) 2.4 Cal/sec
(b) 0.24 Cal/sec
(c) 240 Cal/sec
(d) 2400 Cal/sec

[7]

cSTef@Ie

Sewa ifefE w0 iR cEeE ARy
(a) *f&

(b) @

(c) o9l

(d) w54

21.

22. S.I A%fers T 0ga G0 TE,
(a) kg/m3

(b) gm/cm’®

(c) Liter

(d) kg
23. I SAER TFOANES t"ma 51?-'!?1' L SIE]
i @R e -
@) mmmmm;;
(b) s Biet e =i
(c) Biet TS FoaTEa sz )|

(d) s oFfoa Tom fda W"TBHTSQ?
3 3fa A

24. @G SRR 1R asa Red arsw 10 oFS,
AR @Y 10 Q = AT g W eat

(a) 103 mA
(b) 10A
(c) 1000 mA
(d) 100A

25. 10 Q 4 RS @it oiaa vy W 1A ofve
231z 7, “fFaRiee oo Sesita 29

(a) 2.4 Cal/sec

(b) 0.24 Cal/sec
(c) 240 Cal/sec

(d) 2400 Cal/sec



E 26. |

27.

~Unit of force in C. G. S. system is

(a) Joule
(b) Calorie
(c) °C

(d) Dyne

A ray of light is incident perpendicularly

on a plain mirror. What will be the angle of
reflection?

28.

() 90°

(b) 0°
(c) 45°
(d) 60°

At what temperature the density of water

is maximum?

29.

30.

(a) 0°C
(b) 4°C
(c) 10°C
(d) 20°C

Water is used as a coolant because it
(a) is expensive

(b) is easily available

(c) is a good conductor of heat
(d)._has high Sp. Heat

The property of a metal by which it can be

beaten into thin sheet is called

31.

(a) Ductile
(b) Metallic
(c) Brittle
(d) Malleable

Sﬁring balance is used to measure which

of the quantity given below?

(a) Momentum
(b) Pressure

(c) Force

(d) Acceleration

(8]

26.

217.

C. G. S. #%ere IETT GFF0 T
(@) &=

(b) W

(c) °C

(d) ©fz=

e

RO I e o s [ s M Bl O

weifoe e afSTer @R e Fo 2

28.

29.

30.

(a) 90°
(b) 0
(c) 45°
(d 60°

(I THOR TER I A8 2
(a) 0°C
(b) 4°C
(c) 10°C
(d) 20°C

ANoAPFF BAN & IS W I «@fe
(@) I

(b) =EwETS)

(c) wIsa o s

(d) Tw wielfErs Siepi

@ 400 T (@ 4heq oM Fitw Areet

S ol F41 I, ©f =5

31.

(a) RIS
(b) e
(c) ©%7
(d) TrozAEe

w7 el @R s o ek g

JI© A\ ?

(a) @4
(b) o=
(c) 3=
(d) w34



32.

Rainbow is a mnatural phenomenon

showing which property of light?

33.

35.

(a) Reflection
(b) Refraction
(c) Dispersion
(d) Diffraction

Sodium metal is stored in
(a) water

(b) open air

(c) alcohol

(d) kerosene

The acidity of sodium hydroxide is
(@ 2
(b) 3
(© 1
@ 4

Which of the following is an organic

compound?

(a) CaC,
(b) NaHCO,
(c) CHCl,
(d) Co,

36. Which of the following substance is an
electrolyte?

(a) Nagl

(b) CH,

(¢) CO(NH,),

(d) C,HsOH ’

[9]

32.

A2

33.

35.

36.

WER @I G Ao T A R

(a) oAfST
(b) efSsTae

(c) fmgaa
(d) SRS

G e BowT wafre M e
(a) &=

(b) e APS

(c) SEEA

(d) =

CTfEH 2REARCT THAS!
(a) 2 £y
(b) 3
() 1
d 4

Ra Aot T G T el e
(a) CaC,

(b) NaHCO,

(c) CHCl,

d) CO,

ffeiRe cotefem b ©fbe Rosmy W
(a) NaCl ' .
(b) CH,

(c) CO(NHp),

(d) C;H,OH



37. Which of the following metal is found in
the liquid state?

38.

to be

(a) Iron

(b) Aluminium
(c) Mercury
(d) Gold

Oxides of non-metals are generally found

(a) Basic

(b) Acidic

(c) Neutral
(d) Amphoteric

[10]

37. R yoekm @R o=@ S[EE sieal
e

(a) ==
(b) R e
(c) “lim
(d) G

38. wuIed TEiRvelE 43 AERee et T
ot T 2

(a) =
(b) wfE
(c) &=

(d) ot
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Life Science

39. With which disease the name of Ronald Ross
is associated?

©.40.

gas?

41.

42,

43.

44,

(a) Typhoid
(b) Leprosy
(c) Malaria

(d) Diptheria
‘Which one of the following is not a green-house

(a) Carbondioxide (CO,)

(b) Chlorofluro Carbon (CFC)
() Methane (CH,)

(d) Sulphurdioxide (SO,)

Which one is called ‘emergency hormone’?
(@) Insulin

(b) Adrenaline

(c) Thyroxine

(d) Glucagon

Inacell, DNA is found in

(a) Nucleus, Mitochondria and Plastid

(b) Nucleus, Mitochondria and Golgibodies
(c) Nucleus, Golgibodies and Plastid

(d) None of the above

World Environment Day is observed on
(a) 5thDecember

(b) 21stMarch

(c) 18th October

(d) 5thJune

The term ‘Hot Spot’ is related with

(a) Protected Forest

(b) Biodiversity

(c) Reproduction

(d) Climate '

[111]

39.

41.

42.

43.

I oI5 103 S FOR AN J@ 2
(a) DRFwe TR |
(b) T

(c) o=

(d) etz
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45.

Which mineral does maintain the water balance

in human body?

46.

47.

48.

49.

50.

(a) Calcium

(b) Iron

(c) Magnesium

(d) Sodium

Tube feet are present in
(a) Seaanemone’s body
(b) Sea-pen’s body

(c) Octopuses body

(d) Star-fishes body

Which of the following are macronutrients?
(a) H,K; Mn

(b) B,H,Zn

(c) N,P K

(d) C,0,Cu

Microbes are

(a) onlyBacteria

(b) onlyFungi

(c) only Protozoa

(d) Bacteria, Fungi and Protozoa

Which one is absent in honey?
(a) Vitamin

(b) Fat

(c) Fructose

(d) Glucose

The increased activity of which cell organel

raises the probability of Cancer?

51.

(a) Lysosome i
(b) Golgi body

(¢) Nucleus
(d) Mitochondria

Which of the following incident can not be

termed as pollutant?

(a) Discharge of CO, from thermal power
plant.

(b) Discharge of CO, from Chimney of
factory.

(c) Release of CO, during respiration by living
organism.

(d) Discharge of CO, from Bus, Taxi etc.

45.

46.

47.

48.

49.

50.

e ?

Si,

[12]
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'782. A cartileginous fishis
(a) Starfish
(b) Shark
(c) Silverfish
(d) Cattle fish

53. 'Which element helps in blood coagulation?
(a) Calcium
(b) Iron
(c) Iodine
(d) Zinc

54. Which ofthe following is a typical place of ‘in
situ’ conservation?
(@) Zoo
(b) Cryopreservation
(c) GeneBank
(d) National Park

55. Which is not the correct process of keeping
food well?
(a) Keeping in a air-free pot.
(b) Adding salt in fish, meat and fruits.

(c) Keeping food in high temperature.
(d) Adding sweet juice or sugar to fruits.

52.

55,

[13 ]
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62. Who was Babur’s opponent in the First
Battle of Panipat?

65.

66.

(a) Sikandar Lodi
(b) Bahlul Lodi

(c) Ibrahim Lodi

(d) Daulat Khan Lodi

Who invaded India in the year of 17397
(a) Nadir Shah

(b) Ahmad Shah Abdali

(c) Sultan Mahmud

(d) Timur

The Third Battle of Panipat took place in
(a) 1753 AD
(b) 1756 AD
(c) 1760 AD
(d) 1761 AD

The last Peshwa of the Maratha was
(a) BajiRaoll

(b) Balaji Baji Rao

(c) Balaji Biswanath

(d) Raghunath Rao

Which Indian state was the first to accept

the ‘Subsidiary Alliance’?

67.

(a) Oudh

(b) Mysore
(c) Hyderabad
(d) Bengal

Who was Elijah Impey?

(a) First Chief Justice of Supreme Court
(b) Governor-General of India

(c) Christian Missionary

(d) President of Board of Control

Who abolished the practice of Sati?
(a) Raja Rammohan Roy

(b) Iswar Chandra Vidyasagar
(c) William Bentinck

(d) Lord Dalhousie

62.

65.

66.

AN SN Jra I afes® @ fewme
(a) PrmIF @i

(b) 3=F @i

(c) Zaifew @i

(d) crere <t @

a0 RBIH (& OIFS ST FE?
(a) Wz 1z
(c) FTom AW

(d) tom
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(c) Savo oI
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(c) =g el
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69.

70.

) I8

72.

The founder of the Arya Samaj was
(a) Dayananda Saraswati

(b) Keshab Chandra Sen

(c) Jyotiba Phule

(d) Mahadev Govind Ranade

The editor of the Hindu Patriot was
(a) Dinabandhu Mitra

(b) Harish Chandra Mukhopadhyay
(c) Krishna Kumar Mitra

(d) Surendra Nath Bandyopadhyay

Who was called the ‘Frontier Gandhi’?
(a) Mahatma Gandhi

(b) Vallabhbhai Patel

(c) Khan Abdul Gaffar Khan

(d) Jayprakash Narayan

Who was the first President in India?
(a) C. Rajagopalachari

(b) Dr. Rajendra Prasad

(c) Dr. S. Radhakrishnan

(d) Dr. Zakir Husain

[16]
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71.
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Geography % g

73. Onwhich plate mmgin the fold mountain is 73. IR~ i 711 e sie ﬂﬁ\‘i e
formed? e G oo (a) SR =i S
a) Convergent Plate Margin
(b) Divergent Plate Margin (b) ST o116 At
(c) Conservative Plate Margin () Fswers e A
(d) None of the above (d) Toiea bR T
74. Why ‘Black soil’ is black in colour? 74, T IR 3 I 26T IR
(a) Itisoriginated from granite rock. (a) 2= R
(b) Itisoriginated from basaltic rock. (b) TPFS Rem B
(c) Due to abundance of organic matter. (c) Te= =witda wfEy
(d) None of the above . (d) o @Rt
75. The pompei town was totally ruined by the 75. ~tR =zl @ R W?{éﬂm Fspef R
volcanic eruption of = s LEY
(a) Visuvious Mountain (a) TofEam emamfaR
(b) Strombly Mountajn_ (b) FeeSRAR
(¢) Aconcagua Mountain () SRR TR
(d) Mt. Popo (d) TS coiteeit eaafaif
76. When would be the shadow of the stick 76. ea Gisiy 3 @3 =t A <fre e =,
smallest, if we dig a rod in a plain land? BIZTE @ I A AU (B I A2
(@ 6:30am. (a) 6 : 300@
(b) 6:30p.m. (b) w6 : 30 BiF
(© 12 :00Noon (©) T12:00 ?’:a
(d) 03:00pm. (). o3 00
77. The Primary Component of ‘Soil’ formation 77. = AR A T ==
. (@) A
g; SaI:l(:lIiﬁ1 b) GEiFEe
© m (c) o omief
(d) Minerals (d) «fe ol
78. Which wind is known as ‘The Doctor Wind’? 78. @9 31§ ‘The Doctor Wind® =it #ifafow 2
(a) SantaAna (@) wrorsal
(b) Pompero (b) ===t
(c) Sirecco ' (c) Pt

(d) Harmattan (d) 2T
[17]



79. Whatis4 o’clock rain?
(@) Orographic rainfall
(b) Convectional rainfall
(c) Tropical cyclonic rainfall
(d) Temperate cyclonic rainfall

80. The main crop of Tropical Monsoon climatic
regionis
(a) Rice
(b) Nut
(c) Olive
(d) Mango

81. Semang is the tribal people of
(a) Zaireregion

(b) Amazonregion

(c) Panamaregion

(d) South-Eastern Asian region

82. The home made by Eskimo in winter season
is called
(a) Igloo
(b) Tupic
(c) Kayak
(d) Harpoon

83. If nature fulfils or repairs its own damage,
then the process is known as

(a) Homeostatic mechanism
(b) Heterostatic mechanism
(c) Eustatic mechanism
(d) Static mechanism

84. Which country is called the “Land of Thunder
Dragon’?
(a) Nepal
(b) Bangladesh
(¢) India
(d) Bhutan

79. 4 o’clock rain CF A= ?
(a) ToIERITHA IBoiter
(b) Afavem IS

(c) @8 g JfBeirere

(d) =fERirerze g 3Bt

SO G Sy Sisted i <01 2=
(@) =

(b) 3w

(c) TR

(d) ==

80.

81. owe TS SigamE ol I
(a) IR SRR S
(b) e SR S
(c) A ST

(d) wiw-oF @iz Sr=ecs

82. GREAITTR AISHEAN IPIRCS A

(a) i

(b) ek
(c) T
(d) =g

83, SRR R S #ifarae e (A 70 T,

Ot o =

[18]

(a) @fiIeHbs wfe
(b)) BRI Aate
(c) T owfe

() oife &l

84. IR CFITE TGS (741 AT 2
(a) @==

(b) e

(c) ©IFe

(d) wom



85.

86.

‘Silent Valley’is in the state of
(a) West Bengal

(b) Kerala

(¢) Karnataka

(d) Bihar

In which part of North America Tundra

Climate is found?

88.

89.

90.

(@) North
(b) South

(c) South-East
(d) South-West

The largest river of Brazil is
(a) Orineko

(b) Amazon

(c) Purus

(d) Zingu

The tropical grassland of Australia is famous

(a) Pampas

(b) Selva

(c) Parkland-Savana
(d) Savana

Which city is known as the ‘Silver City’?
(a) Brokenhil

(b) Mildura

(c) Canbera

(d) Brisbane

The highest peak of Antarctica continent is
(a) Mt. Everest

(b) Mt.Kilimanjaro

(c) Mt. Vincent Massif

(d) Mt.Elburz

[19]

85.

86.

87.

89.

‘Silent Valley® J00% (1 31&
(a) =iFoaae

(b) cF=EE

(c) o

d) Ra@

e SN (I S 1 Sy G I 2
(a) Tex

(b) whe

(c) W

(d) wPwt-sifiss

FifreTa Jzew T ==
(a) sRe

(b) SN

()

) fmx

SRR SIS TIefi @ A Affoe ot 2@
(@) =I=ir

(b) el

() EFTrEeT

(d) remt

I 1T Tl *e” i +ifdfpe 2
(a) Q@RE

(b) frErgat

(©) Wit

(@ frr=

SIHIEHP TR A XA
(a) @eIH

(b) RFmmeE

(c) foom i

(d) g



